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Roll No:-_____________________ 

Sem-V Diploma Exam 2023 (Odd) 

(Mechanical Engineering (25) / Automobile Engineering / Mech. Engineering (Auto) (33)) (Theory) 

[Time: 3 Hours] Production & Operations Management (2025501-P) 

 

 

[Max. Marks: 70] 

- All questions are compulsory. (सभी प्रश्न अनिवार्य है।) 

- Marks are mentioned on the right side of each question. (अंक सभी प्रश्न के दाई ओर अंनकत नकरे् है।) 

 

Group (A) (गु्रप -ए) 

 

Q.1 Choose the most suitable answer from the following options. 

(सर्वाधिक उपरु्ाक्त धर्कल्प को चुनकर धिखें।) :- 
 

(1*20=20) 
 

i. _____ is the management of all activities directly related to the production of Goods and Service. 

(_____ वसु्तओ ंऔर सेवाओ ंके उत्पादि से सीधे संबंनधत सभी गनतनवनधर्  ंका प्रबंधि करता है।) 

(a) Production Management 

     (उत्पादि प्रबंधि) 

(b) Finance Control 

      (नवत्त निरं्त्रण) 

(c) Employee Development 

     (कर्यचारी नवकास) 

(d) All of these 

      (इिर्ें से सभी) 
 

ii. _____ is measure of the quantity of output per unit of input. 

(_____ इिपुट की प्रनत इकाई आऊटपुट की र्ात्रा का र्ाप है।) 

(a) Productivity (उत्पादकता) 

(b) Marketability (बेचिे की र् ग्यता) 

(c) Sociability (सुजिता)  

(d) None of these (इिर्ें से क ई िही।ं) 

  

iii. _____ is the process of verification or correction in the quality of the product when the deviations in the quality are 

found to be more than expected. 

(_____ उत्पादि की गुणवत्ता र्ें सत्यापि र्ा सुधार की प्रनिर्ा हैं जब गुणवत्ता र्ें नवचलि अपेक्षा से अनधक पार्ा जाता हैं।) 

(a) Policies (िीनतर् )ं 

(b) Quality Control (गुणवत्ता निरं्त्रण) 

(c) Quantity Measurement (गुणवत्ता र्ापि) 

(d) None of these (इिर्ें से क ई िही।ं) 

 

iv. _____ of the following is best suited for short term forecasting? 

(निम्ननलखित र्ें से _____ अल्पकानलक पूवायिुर्ाि के नलए सबसे उपरु्क्त हैं।)   

(a) Time series analysis 

     (सर्र् श्रंिला नवशे्लषण) 

(b) Exponential smoothing 

      (एक्सप िेंनिर्लसू्मन ंग) 

(c) Continuity extrapolation 

      (निरंतरता एक्सटर पलेिि) 

(d) All of the above 

     (इिर्ें से सभी) 
 

v. _____ of the following is associated with qualitative method. 

(निम्ननलखित र्ें से _____ गुणात्मक नवनध से संबंनधत हैं।) 
(a) Continuity extrapolation 

     (निरंतरता एक्सटर पलेिि) 

(b) Time series analysis 

      (सर्र् श्रंिला नवशे्लषण) 

(c) Exponential smoothing 

      (एक्सप िेंनिर्ल सू्मन ंग)  

(d) Delphi technique 

      (डेल्फ़ी तकिीक) 

  

vi. _____ method is used for long range projections? 

(लंबी दूरी (सर्र्) के प्रके्षपण के नलए _____ नवनध का उपर् ग नकर्ा जाता है?) 

(a) Delphi technique 

     (डेल्फ़ी तकिीक) 

(b) Jury of executive opinion 

      (कार्यकारी जूरी की रार्) 

(c) Sales force composite 

      (सेल्स फ रस कर्प नजट) 

(d) Survey of buyer’s intentions 

      (िरीदार  ंके इराद  ंका सवेक्षण) 

 

vii. If sales is 20,000 units and Break even point is 15000 units, then margin of safety is _____ 

(र्नद नबिी 20,000 रू्निट हैं और बे्रक ईवि प्वाइंट 15000 रू्निट है त  सुरक्षा र्ानजयि _____ है।) 

(a) 35000 units (35000 इकाई) 

(b) 5,000 units (5,000 इकाई) 

(c) 10,000 units (10,000 इकाई) 

(d) 40,000 units (40,000 इकाई) 
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viii. There are various methods to reduce cost of production EXCEPT _____ 

(_____ क  छ ड़कर बानक उत्पादि की लागत क  कर् करिे के नलए तरीके हैं) 

(a) Increase in production output (उत्पादकता र्ें वरखि) 

(b) Reduction in number of rejections (अस्वीकर त की संख्या र्ें कर्ी) 

(c) Maintaining maximum Inventory levels (अनधकतर् इन्वेंटरी स्तर बिाए रििा) 

(d) Producing standardized products (र्ािक उत्पाद का उत्पादि) 

 

ix. The breakdown point is obtained at intersection of _____. 

(बे्रक ईवि नबंदु _____ इन्टर सेक्शि से प्राप्त ह ता है) 

(a) Total revenue and total cost line (कुल आर् त ा कुल लागत रेिा) 

(b) Total cost and variable cost line (कुल लागत त ा पररवतयिीर् लागत रेिा) 

(c) Variable cost and fixed cost line (पररवतयिीर् लागत त ा खथ र लागत रेिा)  

(d) Fixed cost and total cost line (खथ र लागत त ा कुल लागत रेिा)  
 

x. Break-even point is calculated as _____. 

(बे्रक-ईवेि प्वाइंट की गणिा _____ के रूप र्ें की जाती हैं।) 

(a) Sales = Variable expense + Fixed expense + Profit (नबिी = पररवतयिीर् लागत + खथ र लागत + लाभ) 

(b) Sales = Variable expense + Fixed expense - Profit (नबिी = पररवतयिीर् लागत + खथ र लागत - लाभ)  

(c) Sales = Variable expense - Fixed expense + Profit (नबिी = पररवतयिीर् लागत - खथ र लागत + लाभ) 

(d) None of the above (उपर क्त र्ें क ई िही।ं) 

 

xi. _____ is the main objective of aggregate operations planning? 

(सर्ग्र संचालि र् जिा का रु्ख्य उदे्दश्य _____ है।) 

(a) Maximizing short - term profitability  

(लघुकानलक लाभ क  अनधकतर् करिा) 
(b) Minimizing long - term customer satisfaction  

(दीघयकानलक ग्राहक संतुनि क  कर् करिा) 
(c) Balancing production capacity with demand while minimizing cost  

(उत्पादि क्षर्ता क  र्ांग के सा  संतुनलत करिा और लागत क  कर् करिा) 
(d) Achieving maximum production output  

(िीषय उत्पादि आउटपुट प्राप्त करिा) 
 

xii. _____ of the following is NOT a key input for aggregate operations planning? 

(निम्ननलखित र्ें से _____ एक सर्ग्र संचालि र् जिा के नलए प्ररु्ि इिपुट िही ंहैं?) 

(a) Sales Forecasts 

     (नबिी की भनवष्यवानणर्ााँ) 

(b) Production Capacity 

     (उत्पादि क्षर्ता) 

(c) Marketing budget 

      (नवपणि बजट) 

(d) Inventory level 

      (इन्वेंटरी स्तर) 

 

xiii. _____ of the following is NOT a common technique used in aggregate operational planning 

(निम्ननलखित र्ें से _____ सर्ग्र संचालि र् जिा र्ें उपर् ग करिे का सार्ान्य तरीका िही हैं?) 

(a) Linear Programming (रैखिक प्र ग्रार्ि) 

(b) Sales and operation planning (नबिी और कार्ायचरण र् जिा) 

(c) Just in time (JIT) production (जस्ट इि-टाइर् (JIT) उत्पादि) 

(d) Break even analysis (बे्रक-ईवेंि नवशे्लषण) 

 

xiv. _____ of the following is NOT a common objective of assembly line balancing? 

(निम्ननलखित र्ें से _____ असेंबली लाइि संतुलि का सार्ान्य उदे्दश्य िही ंहैं?)  

(a) Equalizing workstation workloads (कार्यथ ाि के कार्काज  ंक  बराबर करिा।) 

(b) Minimizing cycle time (साईनकल सर्र् क  कर् करिा।) 

(c) Maximizing the number of work stations (कार्यथ ल की संख्या क  अनधकतर् करिा) 

(d) Minimizing idle time (आवक सर्र् क  कर् करिा।) 
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xv. In U - shaped assembly, _____ is primary advantage as compared to a straight line layout? 

(U - प्रकार के असेंबली लाइि का रु्ख्य फार्दा सीधी लाइि लेआऊट के रु्काबले _____ है।) 

(a) Higher Production Capacity (उच्च उत्पादि क्षर्ता) 

(b) Reduced Material handling (सार्ग्री हैंडनलंग कर् करिा)  

(c) Improved Worker Communication (कर्यचारी संवाद र्ें सुधार) 

(d) Lower Production Cost (उत्पादि लागत कर् करिा।) 

 

xvi. _____ type of assembly line layout is associated with a continuous flow of products and minimal buffering between 

work station? 

(_____ तरह के असेंबली लाइि र्ें, उत्पाद  ंके बीच र्ें नू्यि संचालि और कार्यथ ल  ंके बीच र्ें नू्यि बफररंग के सा  वकय  

से्टिि के बीच सतत प्रवाह ह ता है।) 

(a) U-shaped layout 

      (रू्-आकार लेआऊट) 

(b) Rectangular layout 

      (आर्तकार लेआऊट)  

(c) Batch production layout 

      (बैच उत्पादि लेआऊट)  

(d) Serpentine layout 

      (सपेंटाइि लेआऊट) 

 

xvii. _____ of the following is NOT a component of material management? 

(निम्ननलखित र्ें से _____ सार्ग्री प्रबंधि के घटि िही ंहैं?) 

(a) Inventory Control 

      (सार्ग्री निरं्त्रण) 

(b) Vendor management 

      (नविता प्रबंधि) 

(c) Human resource management 

     (र्ािव संसाधि प्रबंधि) 

(d) Forecasting and demand planning 

      (पूवायिुर्ाि और र्ांग र् जिा।) 

 

xviii. In material management MRP stands for _____ 

(सार्ग्री प्रबंधि र्ें MRP का अ य _____ हैं।)  

(a) Material Resource Programming (सार्ग्री संसाधि र् जिा) 

(b) Material Requirement Planning (सार्ग्री आवश्यकता र् जिा) 

(c) Manufacturing Resource Programming (उत्पादि संसाधि प्र ग्रानरं्ग) 

(d) Manufacturing Requirement Planning (उत्पादि आवश्यकता प्र ग्रानरं्ग) 

 

xix. _____ is the term used for the process of evaluating and selecting suppliers for an organization. 

(_____ प्रकार की प्रनिर्ा क  संगठि के नलए आपूनतयकरण की गुणवत्ता की जााँच और चर्ि करिे की प्रनिर्ा के रूप र्ें 

उपर् ग नकर्ा जाता है) 

(a) Procurement 

      (आपूनतय)   

(b) Inventory Control 

      (भंडार निरं्त्रण) 

(c) Vendor management 

      (नविेता प्रबंध) 

(d) Quality assurance 

      (गुणवत्ता सुनिश्चिा) 
 

xx. ABC analysis in inventory management categorizes item based on _____ 

(इन्वेंटरी प्रबंधि र्ें ABC नवशे्लषण _____ के आधार पर आइटर्  ंक  शे्णीबि करता है) 

(a) Alphabetical order 

      (अक्षररक िर्) 

(b) Cost, usage and criticality 

      (लागत, उपर् ग, और र्हत्व) 

(c) Supplier location 

     (आपूनत्तय थ ाि) 

(d) Employee performance 

     (कर्यचारी प्रदियि) 

 

 

Group (B) (गु्रप -बी) 

 

Q.2 Discuss the goals of process planning in manufacturing. 4 

 (नवनिर्ायण र्ें प्रनिर्ा निर् जि के लक्ष्य की चचाय करें ।)  
 

OR (अथर्व) 
 
 

 List the factors a company should consider when a ‘make or buy’ decision for a particular component or 

product in its manufacturing process? 

4 

 (नकसी िास प्रकार के घटक र्ा उत्पाद के नलए अपिी नवनिर्ायण प्रनिर्ा र्ें कंपिी क  बिािे र्ा िरीदिे का निणयर् 

लेते सर्र् कंपिी के द्वारा नकि कारक  ंपर नवचार करिा चानहए?) 
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Q.3 Explain the importance of Production Forecasting. 4 

 (उत्पादि पूवायिुर्ाि के र्हत्व का वणयि करें ।)  
 

OR (अथर्व) 
 

 Write a short note on Qualitative method of forecasting. List some Qualitative methods of Forecasting. 4 

 (गुणात्मक पूवायिुर्ाि नवनध पर एक संनक्षप्त नटप्पणी नलिें। कुछ गुणात्मक नवनध क  नलिें।) 

 

 

 

Q.4 Discuss the various objectives of scheduling in project management. 4 

 (पररर् जिा प्रबंधि र्ें िेडू्यनलंग के नवनभन्न उदे्दश्य  ंपर चचाय करें ।)   
 

OR (अथर्व) 
 

 Describe the process of calculation of the Mean Absolute Error (MAE) for a forecasting.  4 

 (आकलि के नलए र्ीि एब्स लू्यट तु्रनट (MAE) की गणिा के प्रनिर्ा का वणयि करें ।) 

 

 

 

Q.5 List down the key objectives of aggregate production planning. 4 

 (सर्ग्र उत्पादि र् जिा के रु्ख्य उदे्दश्य  ंक  सूचीबि करें ।)  
 

OR (अथर्व) 
 

 Define Assembly lines. List four type of assembly line layouts. 4 

 (असेंबली लाइि क  पररभानषत करें । नकन्ही चार असेंबली लाइि लेआउट क  नलिें।) 

 

 

 

Q.6 Define material management and state its importance for business. 4 

 (सार्ग्री प्रबंधि क  पररभानषत करें , और व्यापार के नलए इसके र्हत्व क  बताएं।)  
 

OR (अथर्व) 
 

 Discuss the risks associated with poor material management practice. 4 

 (िराब सार्ग्री प्रबंधि प्र ाओ ंसे जुड़े ितर  ंकी चचाय करें ।) 

 

 

 

Group (C) (गु्रप - सी) 

 

Q.7 Write all necessary steps required in process planning and draw a flow chart for it. 6 

 (प्रनिर्ा निर् जि र्ें आवश्यक सभी कदर् नलिें त ा इसके नलए एल प्रवाह चाटय बिाएं।)  
 

OR (अथर्व) 
 

 What do you understand by ‘Establishing the General Characteristics of workplace? Explain in detail. 6 

 (‘वकय पीस की सार्ान्य नविेषताओ ंकी थ ापिा से आप क्या सर्झते हैं? नवस्तार र्ें वणयि करें ।) 

 

 

 

Q.8 Explain 

1. Theory of Constraints 

2. Employee Scheduling 

6 

 (वणयि करें  

1. थ्य री ऑफ कंस्टर ेंट्स 

2. कर्यचारी िेडू्यनलंग)  

 

OR (अथर्व) 
 The sales of a product during the last four years were 860, 880, 870 and 890 units. The forecast for the fourth 

year was 876 units. If the forecast for the fifth year, using simple exponential smoothing, is equal to the 

forecast using a three period moving average, Find the value of exponential smoothing constant α.  

6 
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 (नपछले चार वषों के दौराि एक उत्पाद की नविी 860, 880, 870 और 890 इकाई  ी। चौ े वषय के नलए पुवायिुर्ाि 

876  इकाई  ा। र्नद सरल एक्सप िेंन र्ल सू्मन ंग का उपर् ग करके पांचवे वषय के नलए पूवायिुर्ाि नति अवधी के 

चर औसत का उपर् ग करके पूवायिुर्ाि के बराबर है, त  एक्सप िेंनिर्ल खथ रांक (α) का र्ाि ज्ञात करें ।) 

 

 

 

Q.9 Differentiate between hierarchical planning differ from collaborative planning in aggregate production 

planning. 

6 

 (सर्ग्र उत्पादि र् जिा र्ें पदािुिनर्त र् जिा सहर् गात्मक र् जिा के बीच अंतर करें ।)   

 
OR (अथर्व) 

 
 From the following particulars, Find out 

(i) Break even point 

(ii) What should be the selling price per unit, if the break even point should be brought down to 

6,000 units? 

 रू. 

Variable cost per unit 15 

Fixed Expenses 54,000 

Selling price per unit 20 
 

6 

 (निम्ननलखित नववरण  ंसे पता लगाएाँ  

(i) बे्रक इवि प्वाइंट 

(ii) प्रनत रू्निट नविर् रू्ल्य क्या ह िी चानहए र्नद बे्रक ईवि नबंदु क  6,000 इकाइर्  ंतक लार्ा जाए। 

 रू. 

पररवतयिीर् लागत प्रनत ईकाई 15 

खथ र लागत 54,000 

प्रनत ईकाई नविर् रू्ल्य 20 

) 

 

 

 

Q.10 Write Short Notes on 

1. Rectangle assembly line layout 

2. U-shape assembly line layout 

6 

 (निम्न पर संनक्षप्त ि ट नलिें। 

1. आर्ताकार असेंबली लाइि लेआउट 

2. U-आकार का असेंबली लाइि लेआउट) 

 

 
OR (अथर्व) 

 
 Explain the concept of contribution margin and its significance in break-even analysis how can it be used to 

improve decision-making?  

6 

 (र् गदाि र्ानजयि की अवधारणा की व्याख्या करें  और इसके बे्रक-इवि नवशे्लषण र्ें र्हत्व क्या हैं? और र्ह नकस 

प्रकार से निणयर् लेिे र्ें उपर् ग नकर्ा जाता है?) 

 

 

 

Q.11 Explain the objectives of purchase department. Write the different stages of purchase procedure. 6 

 (िर् नवभाग के उदे्दश्य  ंकी व्याख्या करें । िरीद प्रनिर्ा के नवनभन्न चरण  ंक  नलखिए।)  
 

OR (अथर्व) 
 

 Describe the purpose of vendor development in supply chain management. Define vendor selection criteria, 

and why is it essential. 

6 

 (आपूनत्तय श्रंिला प्रबंधि र्ें वेंडर नवकास के उदे्दश्य  ंका वणयि करें? वेंडर चर्ि र्ािदंड क  पररभानषत करें  त ा 

र्ह क्य  ंर्हत्वपूणय हैं?) 

 

-------*****------- 


